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2A: 21s
M = FMAE BH & 29
Sel S HA BN EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= EALAIE B & S 30,011 7,260 22,751
401 Al I 2 O8I 24,877 7,260 17,617
01 A& Bl 24,877 7,260 17,617
OQIJA kel DM Z A 21,467,000 x 14 21,467
OXcla =2&d e SA 3,410,000 14 3,410
405 THobH S| 5,134 0 5,134
01 AL EFH S 5,134 0 5,134
OAMRE Xt 170,000& =174 2,890
222U 860,000 =14 860
OS2 &t 228,000& *3H 684
O3l SE Xt 300,000 14 300
Ozl E2 Xt 50,0003 =8H 400
HY2IZH (SSE1S) 85,091 79,953 5,138
2ddl(se1s) 85,091 79,953 5,138
Jl23Hl MM (s1S) 85,091 79,953 5,138
201 Let24E] 52,791 49,373 3,418
01 At 22l 17,035 15,617 1,418
Ogt=&H| 76,1403« 118 «128 10,051
o=l 7,000 «11H 641« 123 5,544
OAN&ZEH gtz 1,440
o D] gtz 30,0003 *2CH 123 720
o HlOl ¥xt= 30,0003 «2CH+12& 720
02 =224l 35,756 33,756 2,000
O3 & HA 30,000, 000& 30,000
oozl 2,500,000& 2,500
OAMEI=EX EE HRE 38,000& x12& 456
OAIE ZHI S X 2,800,000& 2,800
202 oddl 15,840 14,400 1,440
01 = LH 4 1l 15,840 14,400 1,440
ERSJGN] 10,0003 *11H«122 128 15,840
203 YR =&l 10,040 10,000 40
01 J|22F PR =8| 6,600 6,600 0
OJZ22Z YR8 550,000& »12& 6,600
02 A& H 2= 440 400 40
OIS R F= &Y 40,0003 *x11H 440
04 REN2ELRZ=TH 3,000 3,000 0
ORN2IYSZ=AHI 250,000& »12& 3,000
307 glz2+ol & 6,420 6,180 240
05 RIZt2IE = 6,420 6,180 240
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= o
A & 0l & AF 2 E A A
2N =S
My XY =Y L
Sl GAUEH S EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
228 333,651 314,051 19,600
XA A& 25t 109,456 105,904 3,552
M sXH 109,456 105,904 3,552
SEHE AR E X 106,656 103, 104 3,552
301 et A= 106,656 103, 104 3,552
05 8% -0 -tH¥ESE4S 100,290 96,860 3,430
Ostrdas=2ds 100,290
o s&=¢ 200,000& »28H «12& 67,200
o sTdN=S 200,000& 28H *23| 11,200
o s&3od+g 20,0003 28 «23|«12& 13,440
o BtEE S 25,0003 1699 #23| 8,450
1MIIEELSS 6,366 6,244 122
OSeEMYIISEXNE 6,366
os% 5712 «28 «30H « 128 576
o g+& 57131698 504« 128 5,790
A2 X 2,800 2,800 0
301 LAz 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
OXNsSLHUHEESHIXE 700,000& *43] 2,800
QXX Jlgr2 st 104,252 104,868 AB16
FOXXIME X& 104,252 104,868 A616
FOXXIME 2el X3 104,252 104,868 A616
201 £B-2dH| 22,800 22,800 0
01 At 22/l 19,800 19,800 0
O e8| 3,000,000& 3,000
ozg=¢ 50,0003 28 «12& 16,800
02 =24l 3,000 3,000 0
OA&EHl =Xl 3,000,000& 3,000
301 et a = 73,800 73,800 0
MIIEEd= 73,800 73,800 0
O XXNHH NASMLE B3
15,0003 10 25 « 128 45,000
O A== 30,0003 x102 Zt+8Al 2tx 12 28,800
405 Xt&tE SHI 7,652 8,268 AB16
01 et EFH S 6,652 7,268 A616
OFEUXXNEH =25 ¢ 4,660
o ZBRHEX 95,000 20K 1,900
o =ZEAX 60,0003 =464 2,760
OHICIEZ2AEH ¥ SASATEY 2 1,992




2N =S
A FOIXX Jlet&4 3t
el FOUXXIME XA CEERED)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
o HICILEZXH 1,579,000& =1} 1,579
o EAEATE 413,000& =14 413
02 & A7 bl 1,000 1,000 0
OFUXXHEH HXNS EHFLY 1,000,000& 1,000
F0HEO HHXAH 2 2,766 2,766 0
DHOLE AHIA K& 2,766 2,766 0
SEOA HFF 29 2,766 2,766 0
201 Bt A H| 2,766 2,766 0
01 AP 2t 2l Yl 2,766 2,766 0
OgbtgH| 2,766
o SEUALZ) ARE ¢ 2,766,000 2,766
S AAMAME EH 2 29 6,767 0 6,767
s HAN &8 o 6,767 0 6,767
S HBAANE B 2 A 6,767 0 6,767
401 AIEHIL 20| 6,767 0 6,767
01 Al BI 6,767 0 6,767
Os=0HH =et2e &X 6,767
o REEH0E 2,710,400& x 14 2,711
o E=ctoE 4,056,0003 =14 4,056
HHSHAY (SH2E) 110,410 100,513 9,897
Jl2dHl(s82s) 110,410 100,513 9,897
Jl2dd MEAIY (2d2S) 110,410 100,513 9,897
201 LEt2AY| 70,991 69,573 1,418
01 AFR 2t 2l dl 18,307 16,889 1,418
Ogt2H| 76,1403 «11H x12& 10,051
Ox=F2K X 22| 100,000& = 12& 1,200
OANEEHH S XS 1,512
o ALJ|IUXE2 33,000& *2CH x12& 792
o HIOIEXt=Z 30,000& =20+ 12& 720
==l 7,000 x 11 641 x12& 5,544
02 =294l 52,684 52,684 0
OZ2Z22=2YL Al 26,390,000& 26,390
OAZEXNEY R E 38,000& x12& 456
OAI& &Hl KX Hl| 8,000,000& 8,000
OH ZHl 17,838,000& 17,838
202 (4] 15,840 14,400 1,440
01 2L Y] 15,840 14,400 1,440
Os&0u bl 10,000 *11H*x 122 x12& 15,840
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N & O &

At

o

g Al A

=
=S
ANEE deds
HdeH 25 X2 fEH)
= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
Hats 311,537 315,401 A 3,864
XY A2t 136,451 136,451 0
M 2s XA 136,451 136,451 0
SEHE AR E X 133,651 133,651 0
301 et A= 133,651 133,651 0
05 8% -0 -tH¥ESE4S 126,880 126,880 0
Ostrdas=2ds 126,880
o s&=¢ 200,000& »36H «12& 86,400
o sTdN=S 200,000& 369 *23| 14,400
o s&3od+g 20,0003 =36 «23|«12& 17,280
o BtEANZ 25,0003 x176H #23| 8,800
1MIIEELSS 6,771 6,771 0
OSeEMYIISEXNE 6,771
os% 5713 36 301 » 122 741
o g+& 5713 «176F 504« 128 6,030
A2 X 2,800 2,800 0
301 LAz 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
OXsgyi XA 700,000& *43] 2,800
A Jlerz st 85,240 80,540 4,700
X AEH X2 85,240 80,540 4,700
IAXIAE 2el X2 85,240 80,540 4,700
201 £B-2dH| 20,500 20,500 0
01 At 22/l 19,800 19,800 0
O e8| 3,000,000& 3,000
ozg=¢ 50,0003 28 «12& 16,800
02 =24l 700 700 0
OA&EHl =Xl 700,000& 700
301 et a = 59,040 59,040 0
MIIEEd= 59,040 59,040 0
OFLUXXEE XAESAA 2&=
15,0003 *8H 25U x 123 36,000
O A== 30,0003 82 Zt+8Al 2tx 12 23,040
405 Xt&tE SHI 5,700 1,000 4,700
01 et EFH S 4,700 0 4,700
O=&Z& X #¢ 47,000& 1004 4,700
02 =M=l 1,000 1,000 0
OFQUXXHEH HIXE =HA7L  1,000,000& 1,000




2N

Hats
Ha: moimo HFHH S
SH9lr DABS MHIA X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FoEe HHMAH 2= 2,112 2,112 0
DAOEE NHIA K& 2,112 2,112 0
S 7 29 2,112 2,112 0
201 Let24d] 2,112 2,112 0
01 At 2teltl 2,112 2,112 0
O+t 2,112
o SEAUILZI ABE 2 2,112,000& 2,112
= EAMAE BH & 24 2,500 11,760 A 9,260
s EA 23HH 2,500 11,760 A 9,260
SEAMN AL B & SFHNA 2,500 11,760 A 9,260
401 Al HIZ 201 I 2,500 11,760 A 9,260
01 A& HI 2,500 11,760 N 9,260
OFXE F=XFEH EH SAM
2,500,000 =14 2,500
HY2FZH (HES) 85,234 84,538 696
Jl=Ztl(d e s) 85,234 84,538 696
JI28Hl MRAE(HES) 85,234 84,538 696
201 Let249] 52,854 52,398 456
01 At 2teltl 19,942 19,942 0
Ogt=&H| 76,1403 x 138 128 11,878
O=gtl 7,000 13F «641 x12& 6,552
OA&ZEH S Xz 1,512
o )| 4tz 33,000 20 122 792
o Hldl Xtz 30,0003 +2CH+123 720
02 =224l 32,912 32,456 456
OZZ23ZLHA 25,000,000& 25,000
O =ZHl 4,000,000 4,000
OA&EHl Xl 3,000,000& 3,000
OAMA=SXNEY HFE 38,0003 123 «20H 912
202 04l 18,720 18,720 0
01 = LH 4 Hi 18,720 18,720 0
O=& 0l 10,0003 «13H « 12 128 18,720
203 YR =&t 10,120 10,120 0
01 1228 YR =2 6,600 6,600 0
OJI22g g =al 6,600,000& 6,600
02 It =&Y 520 520 0
OIS R =& 40,000& x13H 520
04 RFN2ELRZTH| 3,000 3,000 0
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N = 0l & At & Ml A

C Y ER-ESL=
HE: GRS 4B
oo MBI 2E N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HA1S 452,642 655,170 A 202,528
XY A2t 185,931 185,931 0
M 2s XA 185,931 185,931 0
SEHE AR E X 183,131 183, 131 0
301 et A= 183,131 183, 131 0
05 8% -0 -tH¥ESE4S 173,420 173,420 0
Ostrdas=2ds 160,720
o s&=¢ 200,000& »49H <128 117,600
o sTdN=S 200,000& 49 #23| 19,600
o s&3od+g 20,0003 «49H «23| «12& 23,520
ottazg ez 25,0003 254 #23| 12,700
1MIIEELSS 9,711 9,711 0
OSeEMYIISEXNE 9,711
os% 5713 »49% «301 » 122 1,008
o g+& 5713 »254F x50 <122 8,703
A2 X 2,800 2,800 0
301 LAz 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
OXsLHUE &sH XA 700,000& *43] 2,800
X Jlgr Zst 120,169 221,548 A 101,379
X AEH X2 120,169 221,548 A 101,379
IAXIAE 2el X2 120,169 221,548 A 101,379
201 £B-2dH| 24,800 23,700 1,100
01 At 22/l 21,800 20,700 1,100
O e8| 5,000,000& 5,000
ozg=¢ 50,0003 28 «12& 16,800
02 =24l 3,000 3,000 0
OA&EHl =Xl 3,000,000& 3,000
301 et a = 82,800 65,160 17,640
MIIEEd= 82,800 65,160 17,640
OZM=Z(EaZ)
30,0003 x102 Zt*8Al 2tx 12 28,800
OFLUXXEE XAESAA 2&=
15,0003 #2522 x12H «12& 54,000
405 TtobFH SH| 12,569 108,658 A 96,089
01 AL EZFH S 12,569 107,658 A 95,089
Ogduna ZH F¢ 500
o 2l bt 250, 000& =24 500
OEgua ZH 7¢ 2,900




C Y ER-ESL=
MM FOIXX DB 23
el FOUXXIME XA CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
0o EEAMNE 1,200, 000& *2H 2,400
0 Y H&EE2 ME ME 25,000 204 500
OFFWA AYl 2 2,200
o &3 110,000& =204 2,200
Otte| AErA &dl ¢ 1,024
o 2AH 770,000 =14 770
== 127,000& 14 127
o dEseteld 127,000 14 127
OLclwa &d 2 4,780
o YA 2,700,000 «1CH 2,700
o &€& 1,300,000 = 1CH 1,300
o NS 30,000 «5J4 150
o = (bowl) 315,000& x24! 630
OBANESI 2 252,000 = 1CH 252
OZYE HIES0HE 913,000 =14 913
zplEol WA PE 8,766 76,685 ~67,919
DAMOEE MHHIA XS 2,766 4,686 A 1,920
SEod 2P 29 2,766 4,686 A 1,920
201 Yot Y| 2,766 2,766 0
01 AP 22| d| 2,766 2,766 0
Ogtf2Y| 2,766
o S0z ) ARE R 2,766,000 2,766
SEAN AMNEEH € 29 6,000 71,999 A\ 65,999
S HAMAE B4 2 OHA 6,000 59,677 ~53,677
401 Al HI 2L 2 0HY| 6,000 59,677 NB3,677
01 Al&H| 6,000 59,677 NB3,677
Osd2 UHAHE &EX 2AF 2,500,000 x24! 5,000
O T AJIAIEX X BAF 1,000,000 1A 1,000
HZSAAY (415) 137,776 171,006 133,230
Jl2ddl(dx=1s) 137,776 171,006 A 33,230
Jl2AH MEAIS(H=1S) 137,776 171,006 A 33,230
201 Yet2 | 98,016 73,377 24,639
01 AP 2t 2] H| 22,560 19,377 3,183
OgttL2Y| 76,1403 «14H 128 12,792
O=3&H| 7,000 x14H 64! x 128 7,056
O&LD| X 33,000& =2 x12& 792
odldl ¢z 30,000& =20 12& 720
O 22| 100,000& 12& 1,200
02 2% 4| 75,456 49,000 26,456
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N & o & AF & H Al A
P
M UHXHE A2
Sl XMEH BS X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A2 374,485 321,814 52,671
XY A2t 135,931 135,931 0
M 2s XA 135,931 135,931 0
SEHE AR E X 133,131 133, 131 0
301 L2 A F 133,131 133, 131 0
05 8% -0 -tH¥ESE4S 125,250 125,250 0
Ostrdas=2ds 125,250
o s&=¢ 200,000& 35 x12& 84,000
o sTdN=S 200,000& 359 #23| 14,000
o s&3od+g 20,0003 35 «23|«12& 16,800
o BtEE S 25,0003 2099 #23| 10,450
1MIIEELSS 7,881 7,881 0
OsEE MgdIs& XA 7,881
os% 5713 35«30 » 122 720
o BtE 5713 209 504 <12 7,161
A2 X 2,800 2,800 0
301 LAz 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
Oltsgddgiaast X 700,000 *43| 2,800
QXX Jlgr2 st 105,462 73,780 31,682
FOXXIME X& 105,462 73,780 31,682
FOXXIME 2el X3 105,462 73,780 31,682
201 £B-2dH| 20,500 20,500 0
01 At 22/l 19,800 19,800 0
O e8| 3,000,000& 3,000
ozg=¢ 50,0003 x28H x12& 16,800
02 =24l 700 700 0
OA&EHl =Xl 700,000& 700
301 L2 LS 53,280 53,280 0
11IIEEAS 53,280 53,280 0
O XXNHH NASMLE B3
15,0003 *8H 25U x 123 36,000
OZAr=¢ 30,0003 x62Z Et*8Al 2+ x 12 17,280
401 AIEHI L 20 23,622 0 23,622
01 A& bl 23,622 0 23,622
OFURIIME 25LAM U HE SLBA
23,622,000 23,622
405 TtHabH S| 8,060 0 8,060
01 AL EFFH S 8,060 0 8,060




SN e4es
M FOIXX JIgr2 st
& FUTXMH X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3l 8HIER 168,000 *24 336
Oz EE A 138,000& = 16K 2,208
Ozl 2Rt 79,4003 404 3,176
OMEIR 174,000 2K 348
OtHltlZz=z3H 1,579,000& 1,579
OgMNE A3 413,000& 413
F=oEo dIEMA 2= 2,766 2,766 0
DAMOLE HHIA KR 2,766 2,766 0
S g7 29 2,766 2,766 0
201 et 2,766 2,766 0
01 At 22l 2,766 2,766 0
Oget=&H| 2,766
o SEUALZI ABEF FY  2,766,000& 2,766
= ZAMAIE EH & 24 39,828 16,603 23,225
s EA 23HH 39,828 16,603 23,225
S A #3oHH 39,828 16,603 23,225
401 Al HI K 201 39,828 16,603 23,225
01 A& Hl 39,828 16,603 23,225
Os EAF WA SEIt 13,970,000 =14 13,970
O3 Ex3A 3,883,000& x 14 3,883
OLREZEEx & MEHSA
6,732,000& x 14! 6,732
OFXE ZZIA 15,243,000& 14 15,243
BHSAAY (21425) 90,498 92,734 ~2,236
Jl2ddl(ds28) 90,498 92,734 A2,236
Jl28Hl MRAL(HS28) 90,498 92,734 A2,236
201 2Bt | 54,398 54,398 0
01 At 22/l 19,942 19,942 0
Ogt=gH| 76,1403 x 138 128 11,878
O=2gl 7,000 «64x13H <123 6,552
OAN&EH gtz 1,512
o d=J| dXt= 33,000 20 122 792
o HlOl Xtz 30,0003 +2CH«12& 720
02 =224l 34,456 34,456 0
OZZ23ZLHA 28,000,000& 28,000
OAl& & Hl s Xl 5,000,000& 5,000
oozl 1,000, 000& 1,000
OAM2=X Y 2= 38,000 122 456
202 04l 18,720 18,720 0
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N = 0l & At & Ml A

A e43S
B G Ay
ool MMEH BHE U CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
H==33 325,593 339,771 A 14,178
XY A2t 125,622 125,622 0
M 2s XA 125,622 125,622 0
SEHE AR E X 122,822 122,822 0
301 L2 A F 122,822 122,822 0
05 8% -0 -tH¥ESE4S 116,490 116,490 0
os&d=¢ 200,000& x33H x 123 79,200
OsZ&NHS 200,000& 33 x23| 13,200
Os&alo+< 20,0003 «33H #2353 x 128 15,840
ostazgas 25,0003 x 1659 *23| 8,250
11IIEtEA S 6,332 6,332 0
OseEMYgIISEXNA 6,332
os& 5713 «33H 304« 12& 679
o gH& 5712 «165% x50 x 122 5,653
AAEsUEH AUXRA 2,800 2,800 0
301 et a = 2,800 2,800 0
04 HtSLHUHAHXA 2,800 2,800 0
Osgddiiaagsd XN& 700,000& *43] 2,800
SO XX DBt st 88,105 83,780 4,325
FUXNXMEH K& 88,105 83,780 4,325
FOXXIHEH 22 X 88,105 83,780 4,325
201 Let2d] 21,500 20,500 1,000
01 At 22l 19,800 19,800 0
OgBt=&H| 3,000,000& 3,000
ozdg=¢ 50,000 x28H x12& 16,800
02 2324l 1,700 700 1,000
OA&ZEHl s Xl 700,000& 700
ogAaz 23J|17 =altl 1,000, 000& 1,000
301 L2 LS 62,280 62,280 0
11IIEEAS 62,280 62,280 0
O XXNHH NASMLE B3
15,0003 10 25 « 128 45,000
O A== 30,0003 x62Z Et*8Al 2+ x 12 17,280
405 Xt&tE SHI 4,325 1,000 3,325
01 et EFH S 3,325 0 3,325
OFXXNHH 25 0H 3,325
o HAIE ZctAE HIOIS 67,000 20K 1,340
o HALE Eeta8 Xt 7,150& 2004 1,430
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SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
o XtXIME 2t2X 2 XH(32E)
277,300& =24 555
02 &S A7 bl 1,000 1,000 0
OFUXXHMH HXNES &S 1,000,000& 1,000
F0HO HHMAH RH 2,112 2,512 AN 400
DHOLE AHIA K& 2,112 2,112 0
SO HF 29 2,112 2,112 0
201 et A | 2,112 2,112 0
01 AFR22t2l Yl 2,112 2,112 0
OseaeZz) A28 2 2,112,000 2,112
S HAMAE Hb 2 29Y 19,250 42,084 N 22,834
s HAM E3F i 19,250 42,084 N 22,834
SEA AIE B S A 19,250 42,084 N 22,834
401 Al HI YL 2 0HHI 19,250 42,084 N22,834
01 A& HI 19,250 42,084 N 22,834
OSEAN WAHEsEIt 14,410,000& 14,410
Os A Y =& 4,840,000 4,840
HAHSHAY| (H43S) 90,504 85,773 4,731
JI2FH(H435) 90,504 85,773 4,731
Jl2ZH NEAMY(H23S) 90,504 85,773 4,731
201 LEt2 Y| 53,793 55,113 A 1,320
01 AR 22| I 18,489 18,129 360
Ogt=2H| 76,1403 «12Y8 x12& 10,965
OZ2 &l 7,000 x12H 64! x 128 6,048
OAN&E&EH S X E 1,476
o dz%J| Y= 33,000& *1CHx12& 396
o HlO dXt=z 30,000& *3CHx12& 1,080
02 35244l 35,304 36,984 A 1,680
OAI& &Hl K XYl 2,620,000 2,620
03322 % MA 29,528,000& 29,528
(@)sK=3] 2,700,000& 2,700
OAEXNEY R E 38,000& x12& 456
202 04| 17,280 17,280 0
01 2L Y| 17,280 17,280 0
ER G| 10,000& x12H x 122 x12& 17,280
203 &R =&H| 10,080 10,080 0
01 J|22HLR=AH| 6,600 6,600 0
OJ|Z22dgR =AY 550,000& 128 6,600
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N & O &

A E A

A

SN BES
HE: GRS ABA5
chelr NMEH 2E K@ CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Hsts 418,852 412,633 6,219
XN A2 179,751 166,211 13,540
AN &8s & 179,751 166,211 13,540
St AIDJ| & & XS 176,951 163,411 13,540
301 et A= 176,951 163,411 13,540
0B SHE -0 -EHEESEMN= 167,110 153,790 13,320
Osttassd A= 167,110
0o E¥Y 200,000 »47H «12& 112,800
o SEMNUNHZ 200,000 x47H *23| 18,800
0o EX3oLH 20,000 478 23| 128 22,560
o BtEBEAZ 25,0003 259 x23| 12,950
11 JIEtE &2 9,841 9,621 220
OSEtEMYIISEXHA 9,841
o =% 571 x47H «304 x 12 967
o BHE 5713 x259Y x50 x 12& 8,874
INE=3=0= N0 N 2,800 2,800 0
301 et A= 2,800 2,800 0
04 Ais2HHMHALH XS 2,800 2,800 0
OXsgHUIA2sH A& 700,000 43| 2,800
FOIXFX Dl BrA 3 125,455 135,704 AN 10,249
FOIXXIAE K& 125,455 135,704 A 10,249
FOIXXHE 22 XA 125,455 135,704 N 10,249
201 gBt24y| 27,700 20,500 7,200
01 AF 2t 2| H| 21,000 19,800 1,200
Ogbt4=24| 3,000,000& 3,000
ogstagH| (Es08) 1,200,000 1,200
osds4 50,000& x28H x12& 16,800
02 B32ZH| 6,700 700 6,000
OA&EZ&HI KX Y| 700,000& 700
OZ2Z22LHAM(Es0IE) 500,000& x12& 6,000
301 ety A= 86,040 68,040 18,000
11 JIEtE A= 86,040 68,040 18,000
OF0IXXAHEH KNISALL BE&Z
15,000 x10Y¥ 25 «12& 45,000
OFCUXXME XNFEAX BEAS(HS0IE)
15,000 x4 H x252 122 18,000
OZAIE=Y 30,000 x84 ZH+8A| 2Hx12& 23,040
307 QI2t0| & 2,220 0 2,220
05 QIZtREZ 2,220 0 2,220
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MM FOXX JIBHA S}
el FOUXXIME XA (SH9: &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OReAHANAHY 2H(HSs0IE)
185,000 »12& 2,220
401 AlEHIZL 2 0HY| 803 36,824 N 36,021
01 Al&H| 803 36,824 N 36,021
OF=s0tS E9HH AP Z2 A 803,000 14! 803
405 XHAHFEIEHI 8,692 10,340 N 1,648
01 JHAHY 2 Z 5 S H 3,692 10,340 A6,648
OFs0I2 SItH deed 2
1,500,0002! * 1} 1,500
OFs0E =SIIH 288 SI| #*Y
50,000& ~4LH 200
OYZzHME g 1,579,000 *14! 1,579
OgAaE A3 2 413,000 =14 413
02 ST 5,000 0 5,000
OFs02 2IIH =47 5,000,000 =14l 5,000
FOIHO HAEMYH 2= 2,766 2,766 0
DAMOEE HHIA X 2,766 2,766 0
S F P 29 2,766 2,766 0
201 et Y| 2,766 2,766 0
01 AP 2t 2] H| 2,766 2,766 0
Oger+gHl 2,766
o Eg0IEZ) ARE R 2,766,000 2,766
S HEAMAE HH € 29 12,020 14,930 N2,910
S A EFA 12,020 14,930 A2,910
SEAF AIE 2|28 & ZAH 9,020 11,930 AN2,910
401 Al HI L 2 0HHI 9,020 11,930 AN2,910
01 Al&H| 9,020 11,930 AN2,910
O&E A LEDAE Z T A X Z Al 9,020,000& x 14! 9,020
Z2AXIAHANS 3,000 3,000 0
206 M = Hl 3,000 3,000 0
01 X2 H| 3,000 3,000 0
O=x=st3¢ 3,000,000 1Al 3,000
HM2HAY (Hsts) 98,860 93,022 5,838
Jl2dbl(dsts) 98,860 93,022 5,838
Jl223H MEAY(®E&S) 98,860 93,022 5,838
201 LBt ]| 58,480 57,062 1,418
01 AP 22| H| 21,360 19,942 1,418
Ogbt4=24| 76,1402 x14% x12& 12,792
Ol 7,000 x14H «6A! 128 7,056
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> A
A & 0l & AF 2 E A A
2N SEIS
HE: GRBY 4B
Sl GAUEH 25 X8 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sE1s 282,894 295,239 A 12,345
XY A2t 101,606 112,350 210,744
M 2s XA 101,606 112,350 A 10,744
SEHE AR E X 98,806 109,550 A 10,744
301 et A= 98,806 109,550 A 10,744
05 8% -0 -tH¥ESE4S 94,310 104,650 210,340
oSty gs2d= 94,310
o s&=¢ 200,000& »27H «12& 64,800
o sTdN=S 200,000& #27H #23| 10,800
o s&3od+g 20,0003 «27H «23|« 128 12,960
o BtEE S 25,0003 x115H #23] 5,750
1MIIEELSS 4,496 4,900 A 404
OSeEMYIISEXNE 4,496
os% 5712 +27H «30H « 128 556
o g+& 5713 «115F «50H « 128 3,940
A2 X 2,800 2,800 0
01 LEtE A= 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
OXNsSLHUHEESHIXE 700,000& *43] 2,800
QXX Jlgr2 st 80,540 74,780 5,760
FOXXIME X& 80,540 74,780 5,760
FOXXIME 2el X3 80,540 74,780 5,760
201 £B-2dH| 20,500 20,500 0
01 At 22/l 19,800 19,800 0
O e8| 3,000,000& 3,000
ozg=¢ 50,0003 28 «12& 16,800
02 =24l 700 700 0
OA&EHl =Xl 700,000& 700
301 et a = 59,040 53,280 5,760
MIIEEd= 59,040 53,280 5,760
OJIEtE 43 59,040
o FUXXME XNESAX AHIEHS
15,0003 «8H 25«12 36,000
o FEUXXHEEH A=
30,0003 82 Zt+8Al 2tx 12 23,040
405 XtatE SHI 1,000 1,000 0
02 TN 1,000 1,000 0
OFQXXHH HXNIE AP
1,000,000& =13l 1,000




2N SEIS
HE: FoImo BN P
SH9l: DMOIE AHIA XY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FoEe HHMAH 2= 2,112 2,112 0
DAOEE NHIA K& 2,112 2,112 0
SEUAET 29 2,112 2,112 0
201 Let24d] 2,112 2,112 0
01 At 2teltl 2,112 2,112 0
O+t 2,112
o SEUALZI AR 2 2,112,000 2,112
= EAMAE BH & 24 28,750 37,119 A 8,369
= AL B3 28,750 37,119 A 8,369
SEA AL B 2 - 28,750 37,119 A 8,369
401 Al& I & 28I 28,750 37,119 A8,369
01 A& HI 28,750 37,119 A 8,369
OSEM WASSTI ¢ FLAHVS S
13,750, 000& 13,750
OXIGH=XE HHI S A 15,000, 000& 15,000
HER2IEH(SEIS) 69,886 68,878 1,008
l2ddl(s&1s) 69,886 68,878 1,008
Jl2ddl MEAMd(SEIS) 69,886 68,878 1,008
201 L2l 42,658 42,658 0
01 At 22l 14,272 14,272 0
O e8| 76, 1403 x9H » 128 8,224
o=l 7,000 *9H «641 x 128 4,536
OAdEH Xtz 1,512
o =D ¥z 33,0003 x2CH 123 792
o HlOl ¥xt=z 30,0003 x2CH 128 720
02 =224l 28,386 28,386 0
OZ22223 % HAl 22,000,000 22,000
OA&EHl Xl 4,430,000 4,430
oozl 1,500,000 1,500
OMI=XNEY 2R E 38,000& »12& 456
202 oddl 12,960 12,960 0
01 = LH o4 1l 12,960 12,960 0
O=&0HI 10,0003 x9H » 12« 12& 12,960
203 YR =2t 9,960 9,960 0
01 JIZ2Z YR8 6,600 6,600 0
OJ|22d I LFat| 550,000& = 12& 6,600
02 A& H 2 =& 360 360 0
OF AL S = A 40,000 x9H 360
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N & o & AF & H Al A
2N SE2S
M UHXHE A 25t
Sl MMCH 25 N CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SE2S 283,761 296,074 212,313
XA A& 25t 112,856 112,856 0
M g XA 112,856 112,856 0
SEE A& XA 110,056 110,056 0
301 L2 A F 110,056 110,056 0
05 S& 0% -EtE2ES243 104,950 104,950 0
OSuzssEAR 104,950
o =&Y 200,000& *30H «x12& 72,000
o s¥ANS 200,000& 30 #23| 12,000
o S&¥3oxH 20,0003 *30E #2353 x12& 14,400
o BHEEAZ 25,0003 x131& #23] 6,550
1MIIEELSS 5,106 5,106 0
OSeEMYIISEXNE 5,106
o =& 5713 «30Y «30H x 128 617
o BtE 5712 x131G x50 x 122 4,489
UEYHU X 2,800 2,800 0
301 L2 A3 2,800 2,800 0
04 tSLHUHLH XA 2,800 2,800 0
Oltsgddgiaast X 700,000 *43| 2,800
QXX Jlgr2 st 76,533 74,780 1,753
FOXXIME X& 76,533 74,780 1,753
FOXNXME 22l X 76,533 74,780 1,753
201 £B-2dH| 20,500 20,500 0
01 At 22/l 19,800 19,800 0
O e8| 3,000,000& 3,000
ozg=¢ 50,0003 x28H x12& 16,800
02 8323l 700 700 0
OA&EHl =Xl 700,000& 700
301 L2 LS 53,280 53,280 0
11IIEEAS 53,280 53,280 0
O XXNHH NASMLE B3
15,0003 *8H 25U x 123 36,000
O A== 30,0003 x62Z Et*8Al 2+ x 12 17,280
405 THobH S| 2,753 1,000 1,753
01 et EFH S 1,753 0 1,753
OX HHEE MIINAEA 1,500, 000& = 1CH 1,500
O&Z HADI 253,000 = 1CH 253
02 = A7l 1,000 1,000 0
OF2XXHH HX8 THA7L 1,000,000 1,000




2N SE2S
HE: FoImO BN PE
SH9l: DMOIE AHIA XY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FoEe HHMAH 2= 2,112 2,112 0
DAOEE NHIA K& 2,112 2,112 0
S 7 29 2,112 2,112 0
201 Let24d] 2,112 2,112 0
01 At 2teltl 2,112 2,112 0
O+t 2,112
o SEAUILZI ABE 2 2,112,000& 2,112
= EAMAE BH & 24 20,922 35,223 214,301
s EA 23HH 20,922 35,223 214,301
SEA AE B & M 20,922 35,223 A 14,301
401 Al& I & 28I 20,922 35,223 A 14,301
01 A& HI 20,922 35,223 A 14,301
OBA L+ 0l%2 ©M 9 BaBA
16,588, 000& 14! 16,588
O=J1HLUH o8 (54 4,334,000 * 14 4,334
HE2HEH(SE2S) 71,338 71,103 235
l2ddl(s&2s) 71,338 71,103 235
Jl2dtl MM (sE2S) 71,338 71,103 235
201 Let24E] 43,558 43,163 395
01 At 22l 14,272 13,876 396
O e8| 76, 1403 x9H » 128 8,224
O= &l 7,000 9 64l 128 4,536
OAdEH Xtz 1,512
o =D ¥z 33,0003 *2CH+123 792
o HlOl ¥xt=z 30,000& =20 =122 720
02 2324l 29,286 29,287 A
OS=2=Z A A 24,300,000 24,300
O¢zl 2,000,000& 2,000
OA&ZEHl S X bl 2,530,000 2,530
OAMEI=EX EE HRE 38,000& =122 456
202 oddl 12,960 12,960 0
01 = LH o4 1l 12,960 12,960 0
O=&0HI 10,0003 x9H » 12« 12& 12,960
203 YR =2t 9,960 9,960 0
01 JIZ2Z YR8 6,600 6,600 0
OJI228 =4l 550,000& = 12& 6,600
02 A& H 2 =& 360 360 0
OFAJtatg =&Y 40,000 x9H 360
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N & o & AF & H Al A
AN SEIS
M UHXHE A2
Sl XMEH BS X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S &3S 271,576 262,296 9,280
XY A2t 104,738 104,738 0
M 2s XA 104,738 104,738 0
SEHE AR E X 101,938 101,938 0
301 L2 A F 101,938 101,938 0
05 8% -0 -tH¥ESE4S 97,490 97,490 0
os&d=¢ 200,000 »28H x 123 67,200
OsZ&NHS 200,000& x28Y x23| 11,200
Os&alo+< 20,0003 «28H +23| x 128 13,440
ostazgas 25,0003 x113Y %23 5,650
11IIEtEA S 4,448 4,448 0
OseEMYgIISEXNA 4,448
os& 5713 «28H 304« 12& 576
o gH& 5712 +113F x50 x 122 3,872
AsLHM XA 2,800 2,800 0
301 et a = 2,800 2,800 0
04 HtSLHUHAHXA 2,800 2,800 0
ONsgddHHI2SH XA 700,000& *43] 2,800
SO XX DBt st 83,780 83,780 0
FUXNXMEH K& 83,780 83,780 0
FOXXIHEH 22 X 83,780 83,780 0
201 Let2d] 20,500 20,500 0
01 At 22l 19,800 19,800 0
OgBt=&H| 3,000,000& 3,000
ozdg=¢ 50,000 x28H x12& 16,800
02 2324l 700 700 0
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